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The graph shows y as a function of x.

For each interval in the table, select a box to indicate whether the function is increasing or decreasing
over the interval.

Interval z<0 0<z<l 1<z<2 2<z<3 =z>3
Function Is Increasing

Function Is Decreasing
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To ship a package, a company charges a one-time fee plus a fee based on
the weight of the package. This table shows the total shipping costs for four

packages of iferent weighs.
Shipping Costs
Weight of Package | Total Shipping Cost
(pounds) (dollars)
4 $11.00
8 $17.00
12 $23.00
16 $29.00

PartA

What s the ate o change ofthe shipping cost in dliars pe pound of
weight?

Enter your answer in the box.

]

PartB

Which equation represents the total shipping cost, C, in dollars, of a package
weighing w pounds?

A C=40w+6
B C=2bw+1
C C=1bw+3

D C=Llbw+d
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Two parallel lines are graphed on a coordinate plane as shown. The lines are rotated about the origin.
The graph of the image of the lines after the rotation is also shown.

Pre-image Image After Rotation
y y
4 4
4 4
3
o
1 4
N N MRS EY R
X o
N ¥
4 4
< o

Which conclusion is supported by the image of the lines?

A. When parallel lines are rotated, the images of the lines are always parallel.

B. When parallel lines are rotated, the images of the lines are always perpendicular.

C. When parallel lines are rotated, the images of the lines always have the same slope as the
original lines.

D. When parallel lines are rotated, the images of the lines always have the same y-intercept as the
original lines.




